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JSSC PGT (General Paper)
PYQ 2018

Q.1 The President of India submits his resignation to:

1. the Prime Minister 2. the Vice-President

3. the Attorney-General 4. the Deputy Chairman of the Rajya Sabha
Q.2 Where in India is the one-horned rhino found?

1. Periyar National Park 2. Rann of Kutch

3. Ranthambore National Park 4. Kaziranga National Park

Q.3 Which of the following is the capital of The Bahamas?
1. Abaco 2. Miami
3. Nassau 4. Ft Lauderdale

Q.4 Which of the following cities of India is located along river Hooghly?
1. Patna 2. Kolkata
3. Bhopal 4. Chandigarh

Q.5 Who was honoured by the US Embassy in January 2017, for his invaluable contributions to the US-India
partnership on tuberculosis?

1. Aamir Khan 2. Amitabh Bachchan

3. Akshay Kumar 4. Shah Rukh Khan

6. In December , the UN Security council imposed new on which country to restrict oil supplies vital for its
missile and nuclear programmes?

1. North Korea 2. Syria

3. Kabul 4. Japan
Q.7 Kaziranga National Park is situated in which of the following states?

1. Madhya Pradesh 2. Meghalaya

3. Assam 4. Chhattisgarh
Q.8 Name the king who was defeated by Muhammad Ghori in the Battle of Chandawar.

1. Govindachandra 2. Indrayudh

3. Jai'Chandra 4. Chandradeva
Q.9 Who got the Arjuna Award, 2017, for achievements in shooting?

1. Rajyavardhan Singh Rathore 2. Abhinav Bindra

3. Prakash Nanjappa 4. Gagan Narang
Q.10 Who was the founder of the Mauryan Empire in India?

1. Ashoka 2. Samprati

3. Chandragupta 4. Bindusara

Q.11 What is the valency of Magnesium?
Ans
1.4 2.2 3.6 4.9

Q.12 Who won the Best FIFA Women's Player award for the year 2017?
1. Sarina Wiegman 2. Deyna Castellanos
3. Carli Loyd 4. Lieke Martens
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Q.13 Mahatma Gandbhi started Dandi March from:

1. Lucknow 2. Amritsar
3. Champaran 4. Sabarmati
Q.14 India is the largest consumer of coal in the world.
1. ninth 2. Second 3. Tenth 4. third

Q.15 Finance Minister Arun Jaitley pegged the fiscal deficit for 2017-18 at of the Gross Domestic Product.
1.3.3% 2.3.4% 3.3.2% 4. 3.5%

Q.16 What is the currency of Armenia?
1. Peso 2. Dinar 3. Dram 4. Euro

Q.17 The President of India inaugurated Adamya Chetna Seva Utsav in which of the following cities in
December 2017?
1. Mysuru 2. Pune 3. Bhopal 4. Bengaluru

Q.18 Which of the following Schedules of the constitution of India provides matters with respect to the
implementation of schemes for economic development and socialjustice by Panchayats?

1. Third Schedule 2. Fifth Schedule
3. Eleventh Schedule 4. First Schedule
Q.19 Who won the WBO Asia Pacific Super Middleweight boxing title, 2017, in Mumbai?
1. Vijender Singh 2. Gennady Golovkin
3. Sergey Kovalev 4. Zulpikar Maimaitiali
Q.20 The duration of the eleventh five-year plan was:
1. 1995-2000 2. 2001-2006
3.2007-2012 4. 2009-2014
Q.21 Which one of the following is an insulator?
1. Silver 2. Copper 3. Gold 4. Mica
Q.22 Bakelite is a type of:
1. pesticide 2. Alloy 3. plastic 4. germicide
Q.23 Who explained the theory of photoelectric effect?
1. Robert Boyle 2. Robert Brown

3. Albert Einstein 4. George Cantor
Q.24 The substances which reduce friction are called:

1. depressants 2. laxatives

3. lubricants 4. emulsifiers

Q.25 Which gland/glands of the human body produces/produce tears?

1. Pituitary gland 2. Lacrimal glands

3. Salivary glands 4. Thyroid gland
26. is an instrument used to measure the specific heat of a body.

1. Ammeter 2. Pyrometer

3. Galvanometer 4. Calorimeter

Q.27 The chemical name of vitamin C is:
1. cyanocobalamin 2. retinol
3. citric acid 4. ascorbic acid
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Q.28 The chemical name of blue vitriol is:
1. cadmium sulphate 2. aluminum sulphate
3. copper sulphate 4. zinc sulphate

Q.29 Which of the following options represents the correct ascending order of fractions?

8 13 7 17 8 7 173
"15’18' 12’ 24 "15" ' 12’2418
8 13 17 7 8 7 13 17
"15’18' 24 12’ 15’12 18"’ 24

Q.30 Select the most appropriate option to solve the given question

Ne=re
V3+/2

1.5 2.7 3.3 4.2

If =a+bV6,thena+b=2

Q.31 The diagonals AC and BD of a parallelogram ABCD intersect each other at point O. If <DAC = 34°
and <AOB = 70°, then <DBC="?
1.55° 2.46° 3.36° 4. 82°

Q.32 Two articles were sold at the same price. On one, there was a profit of 20% and on the other, there was
a loss of 20%. What was the overall profit or loss?
1. 4.25% loss 2. 4% profit 3. 4% loss 4. 4,25% profit

Q.33 Ifa and 3 are the roots of the equation x2-5x+1=0, then-a2R and f3a will be the roots of which of the
following equations?

1. x>+5x+1=0 2.x%-5x+1=0

3. X?-5x-1=0 4. x*+5x-1=0

Q.34 If 4, x, 2x, 50 are in propaortion, then what is.the value of x?
1.5 2.15 3.20 4.10

Q.35 Select the most-appropriate option to solve the given question.

1.2 2.3 3.2 4.3
12 2 12

Q.36 The lengths of the sides of a triangle are 5 cm, 12 cm and 13 cm, respectively. What will be the length
of the shortest altitude of the triangle?

60 5 30
1.—cm 2.-=Cm 3.5cm 4. —cm
13 4 13

Q.37 A group of friends is sitting, one each at the ends of a square (the corners) and one each at the mid-points

of the sides. No boy sits opposite a girl. Deepak. Sudhir, Tarun and Pawan are sitting in a clock wise fashion

and so are Priya, Malti. Meetu and Rama. If Priya sits between Deepak and Sudhir, who is to the left of Malti?
1. Sudhir 2. Meetu 3. Tarun 4. Pawan

Q.38 A father was twelve times as old as his son twenty years back. Now, he is twice as old as his son. What
are their present ages?

1. Father is 44 years and son is 22 years.

2. Father is 66 years and son is 33 years.

3. Father is 80 years and son is 40 years.

4. Father is 55 years and son is 27 years.
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Q.39 Select the answer figure that is related to the third figure is the same way as the second figure is related
to the first figure.

@:@::@:?

EEEE

Q.40 In a family, Priyanka is the elder sister of Preeti: Sudha is Priyanka's daughter and Sunita is Sudha's
cousin. Preeti's mother is Krishna. Prabha is Priyanka's sister-in-law. Who is Sudha's grandmother?
1. Priyanka 2. Prabha 3. Sunita 4. Krishna

Q.41 What should be the number in place of the question mark to complete the given series?
332, 266, 211, 167, 134,72, 101
1.121 2.112 3.125 4.117

Q.42 Identify the word from the options that belongs to the class of the given words.
Given words: Second, Minute, Hour
1. Evening 2. Monday 3. Day 4. March

Q.43 If in a certain code language. 'SUPER' is written as RTTVOQDFQS', then how will ' HOUSE' be written
in the same code?

1. FDTRVGINPT 2. GINPQSRTCG

3. IPQVWTUFG 4. GINPTVRTDF

Q.44 Four different positions of the same dice are shown below. Find the number on the face opposite the face
showing 5.




PYD 2018 BSSEI (M-8777273548) Coaching for JSSC PGT

2 4 ﬁﬁ 3
1 g 4 2
1 5 2 ‘ 1
2.4

1.2 3.1 4.3
Q.45 The value of the Microsoft Excel formula =CEILING(5.3, 4) is:
15 2.5.5 3.4 4.8

Q.46 512 Bytes are equivalent to:
1.1 KB 2. 5120 bits 3.2 MB 4.0.5KB

Q.47 State whether True or False.

I)URL stands for Unique Resource Level.

I1)Lycos is a search engine.
1. I-False, 1l — True 2. |-False, Il - False
3. I-True, Il — True 4. 1-True, Il - False

Q.48 The Control Unit and Arithmetic Logic Unit of a computer system are together known as:
1. Cache memory 2. Virtual memory
3. Main memory 4. Central Processing Unit

Q.49 The Windows start button, which provides access to programs, files, setting preferences, etc. is generally
located at the corner of the screen.

1. lower-right 2. upper-right 3. lower-left 4. upper-left
Q.50 With respect to computer jargon, the letter *S™ in ASCII stands for:

1. Systematic 2. Standard 3. Secondary 4. Superficial
Q.51 Tata Steel, Tata Trust, Cini, Bovelander launched which sport academy in Jharkhand?

1. Cricket 2. Football 3. Hockey 4. Archery
Q.52 What is the audience of the 'Sampark Smart Shala' Program of Jharkhand?

1. Sports persons 2. Primary schools

3. Women 4. Elderly persons
Q.53 The Damodar river of Jharkhand has its origins in:

1. Trikut hill 2. Amarkantak

3. Chota Nagpur Plateau 4. Munger
Q.54 Where is "The Dassam Falls" of Jharkhand is located?

1. Dhanbad 2. Ranchi 3. Deoghar 4. Giridih
Q.55 What the dialect of Maithili spoken in the state of Jharkhand called?

1. Kharia 2. Khortha 3. Mundari 4. Nagpuri
Q.56 Where is the multi-modal terminal part of national waterway-1 located in Jharkhand?

1. Sansikhara 2. Sarjamda

3. Sahibganj 4. Sagarmpur

Q.57 In 1914, which movement of Jharkhand started with the participation of over 26,000 tribals?
1. Kherwar 2. Birsa 3. Tamar 4. Tana Bhagat
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Q.58 During 1895-1900, an "Ulgulan™ was launched in the state of Jharkhand under whose leadership?
1. Bhagwan Birsa Munda 2. Bhukan Singh
3. Vishwanath Shahdeo 4. Tilka Manjhi

Q.59 Who is a British naturalist, zookeeper, conservationist, author and television presenter, who was born in
British India in Jamshedpur on 7 January 1925?

1. Oliver Kite 2. Gerald Malcolm Durrell

3. Neil Nightingale 4. Sam W. Heads

Q.60 What Kadri, Gupijantra. Tuila, Vyang and Anandlahri represent in the context of state of Jharkhand?
1. Traditional Cooking Utensils 2. Traditional Musical Instruments
3. Traditional Costumes for Festivals 4. Traditional Transportation
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PGT (General Knowledge and Hindi Language) 2023

1. Which is the first level of elected body in the Panchayati Raj system?

A) Gram Panchayat B) Panchayat Samiti
C) Zilla Parishad D) Parliament
1. T ot exEer ¥ e Wb B wow w6 B 9v e
A) TH =R B) Y=ad QA C) forem uftwg D) 99T
2. The Rajmahal assembly constituency falls under which district?
A) Khunti B) Garhwa C) Dhanbad D) Sahebganj
2. e farar & e e % efata e &
A)Ed B) TG C) g D) WfesT
3. Which of the following is NOT a parliamentary constituency in Jharkhand?
A) Chatra B) Dhanbad C) Koderma D)-Bokaro
3. Frefefed & ¥ w1 wREvs ¥ UH Gudy FeEre 6 6 e
A) T B) g7E1E C) HISTH D) SHR
4. Which of these towns in Jharkhand is known as a road junction and agricultural trade centre?
A) Jaridih B) Kasmar C) Gumia D) Saraikela
4. EUE T FHIF-T1 e, IS T, AL FT AN g b =G & AT A 82
INELEL B) HHHAR C) THaAT D) TS

5. The highest point in Jharkhand, namely, Parasnath Hill is.formed of which type of stone?
A) Granite B) Limestone C) Brick D) Clay

5. FRETE HT I ST T, TRATY UeTel, g UHR % qea a7
A WEE B) T[T C) e D) B g

6. Which of these states is the largest producer of kyanite?
A) Goa B) Jharkhand C) Mizoram D) Tripura

6. FTATRC bl Y &gl JcHlar U Ea_'f-“\:IT %‘?

(A) T B) SIRE"S ¢) forsirr D) B
7. Who is the current Chief Justice of the Jharkhand state?
A) Sanjay Vijaykumar Gangapurwala B) Sandeep Mehta
C) Sanjaya Kumar Mishra D) None of the options

7. @S A b FAA Y& AT B 87

INKERREERETIMRININCIS]] B) ¥EIT WEdT
C) 9 FAR fAw D) fasedt # ¥ Bl el
&. Jharkhand started its first boat ambulance service in the district.

A) Koderma B) Ranchi C) Palamu D) Sahibganj
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8. HEUE < AT UEeAl A Gid Hal foiel H & |
(A) BIETHT B) T C) e D) eSS

9. The 5 season of Jharkhand International Film Festival and Awards (JIFFA) 2022 was organised from 17%-
18" December 2022 in Jharkhand.
A) Deoghar B) Ranchi C) Dhanbad D) Bokaro

0. FN@UE FALUE fhed Heleaa X qREHI (JIFFA) 2022 T 5 a1 Wist, 17-18 TEdaR 2022 7% .
HRave | sford e |

(A) FTR B C) &aE D) AR
10. Which of the following is/are the composition of Dhaniram Bakshi?
A) Jitiya Kahani B) Fogali Budhiya Kar Kahani
C) Karam Mahatmya D) All of the options
10, Fefefera % & F-ar aviiaw seeht @ g/
A) [efear wer B) BITEA G X Haml
C) HIH WETTHT D) et 3 & wft
11. The publication of the magazine named Luathi started from Balidih in'1999 under the editorship of-
A) Vinod Kumar B) Phoolchand Mahto
C) Ramanika Gupta D) Girdhari Goswami
11, FAE HE qMAHT BT GBI 1999 H Tellele & [bHb e § T gan
A) TR FAR B) Be=E Hedl
C) THTUHT T D) Rerdt ieamd
12. JRD Tata Sports Complex is a multi-purpose stadium located in the city of Jharkhand.
A) Jamshedpur B) Ranchi C) Deoghar D) Dhanbad
12. JRD 2T2T ¥HIcd HIFwigd U dg3cedd Tafead 8 Sl SAREvE + e ¥ fRua 2
A) STHIZYT B) U= C) 3AER D) g7aE
13. The 16th session of the Bihar Student Conference was held in October 1921 at which is one of
the current districts of Jharkhand.
A) Hazaribag B) Palamu C) Dhanbad D) Ranchi
13. foeR g gFeT #T 16 at 99 Adgax 1921 H # ST A T A S SREvS & adae
fSredt % YU 2|
A) ESIERT B) T C) gele D) =i
14. The Magadha Empire extended from the Ganges River in the north to the River in the west
and to the Vindhya hills in the south.
A) Subarnarekha B) Saryu C) Yamuna D) Son

14, T WIS, SOX H W AET F o uRed G @R e ¥ Fex weied qF e ge
o |
A) T T@m B) 94 C) I D) 9
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15. The head of the village panchayat is called in the Parhaiya tribe's governance system.
A) Mahto B) Nayake C) Pranik D) None of the options
15. GREAT SIS T A SqAE T H WH G=AT & HRIAT Bl el Sl & |
(A) W& B) % C) Wit D) oot & ¥ #IE @l
16. The collection of Ho songs 'Ho dur' was compiled by in the Devanagari script.
A) Father Gossner  B) W.G. Archer C) J.D. Smet D) Hoffman
16. 21 di T TUE B T (Ho dur) FaWG oIt # TRT Gahferd fehar T o |
(A) BT TEETT B) W. G. 3T C)J.D.¥HE D) EIHHA

17. The publication of the first daily paper 'Rashtriya Bhasa' started in Ranchi, which was published by
Press in 1950 AD.

A) Pavi B) Geetha C) Uma D) Rani
17. 999 3 T T AT T G G AR g1 S 1950 AD SR ERGRER])
AT AT
(A) 9 B) 3T C) 3 D) T
18. Which area is to the west of the Chaibasa plain?
A) Porahat B) Saranda C) Kolhan D) Hensal
18, STEATET W % ulR=| § BIA-A1 8 2
A)UREIE  B) AR C) HIeeT D) g8

19. In Jharkhand, which of the following forest types was categorized under the Champion and Seth
Classification of Forest Types (1968)?

A) Dry Peninsular Sal Forest B) Butea Forest

C) Boswellia Forest D) All of the options

19. FR@vE #, el # & B5e o7 ¥R 1 a7 TR % AaT 4K Jo afiEw (1968) % ded auidd
5 T am

A) I TG A1 = B) AT &=
OEIREIRRIRCE] D) et o ¥ it
20. The State of Jharkhand accounts for the highest production in India.
A) Spider silk B) Tasar silk C) Sea silk D) Art silk
20. 9RA H T ATdH T IR ARE@IE T § Bl ¢ |
A) TaTEeR e B) TR @ C) TS W INEICARE:D

21. Jharkhand was carved out of which Indian State?
A) Goa B) Manipur C) Bihar D) Arunachal Pradesh

21. FREYE {9 AT T ¥ AT Hqb a7 T dq12
A) T B) AR ) FEr D) FEUEA TEAT

22. Which river in Jharkhand is also known as the Biological Desert due to pollution-related extinction of
aquatic life?
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A) Ganges B) Damodar C) Brahmaputra D) Godavari

22, FRETE H G T4 H YGI F BRO TNF oA F Ay a9 F wRo S Feaw F ww §F o
EIEE i
A) T B) TMI C) FEALA D) TETa

23. According to a recent study, Entamoeba moshkovskii, a pathogen associated with diarrhea, is circulating
in which Indian city?
A) Kolkata B) Patna C) Mumbai D) New Delhi

23,81 & UH AU o ATAR, SANAT ¥ ST IS, USTHIZAT HITHIeEh!, [ IR 9 H IH @l
e
A) TSIl B) e C) HoTg D) et

24. Which state has received the International Travel Award 2023 organised by the Pacific Area Travel Writers
Association (PATWA) for 'Best Destination for Culture' in Berlin?
A) Uttar Pradesh B) Haryana C) Madhya Pradesh D). West Bengal

24, 9 # wepla F I ¥ gdie Taer F fou Wfhe wRar dawr gged waRueE (PATWA) T
AT ST | ATAT DR 2023 69 TT B WM g1 9m
A) T T&TT B)ER@MT  C) HEZ WewT D) UREH s

25. Which entity issued guidelines for advertising regarding charity and philanthropy oriented causes in July
20237

A) AIIMS

B) AICTE

C) Directorate General for Civil Aviation (DGAC)

D) Advertising Standards Council of India (ASCI)

25. TS 2023 § B9 56T 7 T GR WUBR 970@ HRUT 9 ot s & oy e s

A) AIIMS B) AICTE
C) AN J§AT WRlHeemad (DGAC) D) WA f&Asue AMe 9RuE (ASCI)
26. What is the maximum strength of the Rajya Sabha as per Article 80 of the Indian Constitution?
A)250 B) 245 C) 238 D) 233
26. TRAT WG % AT=97 80 F ATAR AT 91 1 AHad dear Foa g 2
A) 250 B) 245 Q) 238 D) 233
27. Moody's lowered its 2019 GDP growth forecast to-
A) 7.9% B)7.7% C) 7.5% D) 5.6%
27. WEIS 7 2019 %1 GDP Ag &1 ATA HETHT F faam |
A) 7.9% B) 7.7% C) 7.5% D) 5.6%

28. Sharan Rani Mathur is an exponent of which musical instrument?
A) Sarod B) Flute C) Violin D) Shehnai

28, YRV T AR b Gt =i 61 g 8
A) TR B) atgd S EIRINE] D) YieTs

10
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29. Where was Gandhi camping when India became free?

A) Delhi B) London C) Kolkata D) Lahore
29. 9 WA ATAE AT a1 AT Faf I A §Y 4

A) feeett B) @& C) BIHA D) AER
30. What was the actual growth at the end of the Fourth Five-Year Plan?

A) 1.60% B) 4.60% C) 5.60% D) 3.30%
30. St erEdtA AT % dq q aredta 9fg 58 F o

A) 1.60% B) 4.60% C) 5.60% D) 3.30%

31. Which sprinter had to hand back one of his nine Olympic gold medals won in the 4x100m relay event at
the 2008 Beijing Olympics following his Jamaican teammate Nesta Carter being tested positive for a banned
substance?

A) Ben Johnson B) Carl Lewis
C) Usain Bolt D) George Anderson

31. %9 ama® FT AT THET W Al e B F AT uerd %, 7w genend 9hew % A
2008 BT Areifus & 4X100 Hiex Koy Tt F ST U 99 At AEfs @t geat § ¥ UF amg S
T 9

A) I G B) HTd q5d C) S¥F diee D) wifel Ugad
32. Who has won the Joan Miro Prize for 2019?
A) Nalini Malani B) Pooja Vajpayee
C) Simran Ahuja D) Preeti Munjal
32,2019 T A B REwR Fras o &
A) AR AT B) I ATSTaT
C) R stmgst D) Wifd et
33. The 8" day of the Krishna Paksha most commonly refers to which Indian famous festival?
A) Buddha Jayanti B) Krishnashtami
C) Deepavali D) Dussehra
33, 50T UET T 8T T ATHAR R 6w IR 9RE AR F1 gahia B 8
AT ST B) HISEH C) drareret D) T9E
34. What was the royal emblem of the Cheras?
A) Horse B) Lion C) Bow and arrow D) Deer
34. =R} T AE Tdi® AT 9
A) T B) R C) g% SR R D) B
35. Who is the author of the book "The Wrong Enemy - America in Afghanistan'?
A) Jim Carrey B) Adam Gilchrist
C) Carlotta Gall D) Teesta Setalvad

- o = o
35. AT U - FHLDT g9 ﬂ%‘llﬁ(‘dlﬂ'i{'dd’) a’T cldch bl %‘?

A W Fh B) UeW [tree C) FTeter D) dEdr daaare

36. Which of the following is the shortcut key used to open the Downloads page in Google Chrome?
A) Ctrl + F B) Ctrl + N C)Ctl+T D) Ctrl+J

11
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36. T T § SIS U @i & forg B & I B aiiddhe F90 (key) BT STANT a1 W 22

A) Ctrl + F B) Ctrl + N CO)Ctrl+T D) Ctrl +J
37. Which of the following is the correct representation of a binary number?
A) (256)° B) (101)? C) (101)? D) (256)*
37. TeAfeife & & biv-a1 Aga Gea BT WE WHied B 8
A) (256) B) (101)? C) (101 D) (256)*
38. occurs when the same data maintained in different places do not match.
A) Data dependence B) Data isolation
C) Data inconsistency D) Data dependence and isolation
38. A9 BT & W AR T ¥ @ T U € e Wet e @ g |
INECREE B) ¥aT farer
C) ST _FE D) Ter i aik e
39. The is an identifier which sends and receives information across the Internet.
A) URL B) WWW C) Network D) IP address
39. U Bl § W Sae % AWK AT Fo A1 UIE B ¢ |
A) URL B) WWW C) ca® D) IPTSH
40. A terminator device is attached to each end of a coaxial cable in a topology to absorb the signal
when it reaches the end of the line.
A) Bus B) Star C) Ring D) Mesh
40. MET & Fq q% g W /AT BT F@eta w7 AT W GHTET BT B
YeIF YR W UE e feargq wer 2l &
A) T (Bus B) T&X o) far D) W97 (Mesh)
41. Which of the following languages is used to display information from the world wide web?
A) Machine code B) HTML
C) C++ D) Assembly language
41, 7€ A28 A9 G W wEiia B4 % fw Fer T ¥ e e w1 e A s @
A)FefT FiE B) HTML C) C++ VEGESIRIIEE]
42. In the OSI model, the layer is responsible for moving the packets from the source to the
destination.
A) Transport B) Datalink C) Network D) Session
42. OSI HigT ¥ A Yebe BT Gid & Taed a o 9 % Y SHEER B g |
A) T S ERIRED C) iea® INKLIE]

43. Which of the following is NOT an operating system?
A) LINUX B) DOS C) ORACLE D) WINDOWSs

43, FeRad & ¥ F9-91 UF AOeT Rieew w6t &
A) LINUX B) DOS C) ORACLE D) WINDOWs

12
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44. 1s NOT an application software.
A) Adobe Photoshop B) Windows 7
C) Avast Antivirus D) MS-Word
44, TF TAHIT WireaaY T8t
INLEER AR BffeM 7 ) ware tdam™ D) MSEE
45. What happens when CTRL + E is pressed in a Microsoft Word document?
A) Selected text is cut B) Selected text is made bold
C) Selected text is centre-aligned D) A pop-up prompts to open a new file
45. AEHWIFE a8 SFIHT F CTRL + EH T W FAT WIH 21l 22
A) TG THE FHE B I

B) TN e HI Slieg fHaT ST 2 |
C) AT YaRe Aeg- Wia fHar S 2
D) U% Ui9-3T U 7% Hed Qe & 9d T ¢ |

46. Evaluate: sin 270° cos 300° tan 330°

V3 1 -1 V3
A% Bls O D)2
46. HeAT® H: sin 270° cos 300° tan 330°
V3 1 ~1 V3
A) = B)— C) 3% D) =~

47. The sides of a triangle are 21 cm,; 20 cm and 13 cm. Find the area of the larger triangle into which the
given triangle is divided by the perpendicular upon the longest side from the opposite vertex.
A) 72 cm? B) 96 cm? C) 168 cm? D) 144 cm?

47.7% PRt A1 et 21 T, 20 T SR B IR T | I9 A9 P F dmwa i A e i
gt 1 Bl ofid & gy wiet S W o gy s e s 2 |

A) 72 TR B) 96 ¥¥? C) 168 IHR2 D) 144 THP
48. cos 0 = % and '0' lies in the third quadrant. Find the value of sin6.
V3 V3 1
A) > B)— ’ O) > D) 1 ’
48. cos 8 = -1/2 AT @ AGX =Iqater ¥ faq T sind 1 A T HL
V3 V3 1
A= B) — C) 3 D) 1
49. £A, £B and £C are three angles of a triangle. If ZA-2B=30° and £B-2C = 60°, then find ZA.
A) 65° B) 80° C) 90° D) 100°
49. A, 2B AR £C,T& FHHT & AT F00 | AR LA-,B=30°T AR B-2C=60° 8, A LATE &L |
A) 65° B) 80° C) 90° D) 100°

50. The two sides holding the right-angle in a right-angled triangle are 3 cm and 4 cm long. The area of its
circumcircle will be:
A)7ncm?  B) Smcm? C) 6.251 cm? D) 6.751 cm?
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50. foreft Twenior Bryst & wHeRIoT i1 SRR T arer 2T eet Y e 3 Eft ok 4 At ) 38 uftew | (circumcircle) @ &EEA
T

A) 7n R B) 51 ¥R C) 6.257 99 D) 6.75n THP2
51. The nature of the roots of x* - 24x + 144 = 0 is:

A) Imaginary B) Real and equal

C) Real and distinct D) Irrational
51.x2-24x + 144 = 0% Wl 1 Wpfd a1 B 22

A) BT B) Al A 9

C) arda® AR fAfere D) A9RHT (Irrational)

52.1f (a/b) + (b/a) = 1, then find a*> + b>.
A)2 B) 1 C)-1 D)0

5297 (a/b) + (bla) = 1 &, A1 a* + b3 TN HY |

A)2 B) 1 C)-1 D)0
53. The volume of a right circular cone is 100 mcm? and its height is 12 cm. Find its slant height.
A)13 cm B) 16 cm C)9cm D) 26 cm
53. T8 ¥ a0 9% BT ATAT 100 rom T AL HAE 12 390 T WAL [dF S A AR
A) 1350 B) 16 I4t C) 9 Tl D) 26 T

54. ABCD is a quadrilateral in which AB || DC. AC and BD intersect at O. If OA=3x - 19; OB =x -3; OC =
X - 5; and OD = 3, then find x.
A)4 B) 6 0) 10 D)8 and 9

54. ABCD U% JI¥sl ¢ fS@# AB||DC? | AC 4R BD, O W ufteeE %30 & | 4 0OA=3x-19%; OB
—x-3%,0C=x-5¢; 9 OD =38, Al 'x T hIoq |
A) 4 B) 6 C) 10 D)8 AR 9

55. Evaluate the @xpression 3yz + zx - 2yk when x =-1;y=2,and z=3
A) 1l B) 18 C) 154K D) 15-2K

55. =5 3yz +zx = 2yk #1 gt fig s x = -1, y =2, sfRz =3 g )
A 11 B) 18 C) 15-4K D) 15-2K

56. Find the wrong number in the following series.
121, 143, 165, 186, 209
A) 186 B) 121 C) 165 D) 209

56. HliRgd S10ft § Tad 9@ A Hiey |

121, 143, 165, 186, 209
A) 186 B) 121 C) 165 D) 209

57. Find the ODD one out from the given options.
A) Mars B) Sun C) Venus D) Mercury

57.T2€ g famwent # 4 T BT A |
A) HTT BIgE Okicg D)3
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58. Which of the following will best complete the relationship given below?
CEG: JKN :: LNP: ?
A) VSR B) STW C) Suv D) SVR

58. el ¥ & ®-a1 99 By U Red w5 as dm wos e
CEG: JKN :: LNP: ?
A) VSR B) STW C) SUV D) SVR

59. Complete the series.
D4V, GO9S, J16P, (...)

A)N25N  B)L27M C)L25M D) M25M
59. Foft T T HL|
D4V, G9S, J16P, (...)

A)N25N  B)L27M C)L25M D) M25M

60. A man is facing northwest. He turns 45° in the clockwise direction, then 90° in the anticlockwise direction
and then another 90° in the same direction. Which direction is he facing now?
A) South B) West C) Southwest D) East

60. T ATEH HT GE@ JR-UTH F AR T | A€ STRmrEd [Bem F 450 qHa 2, T A femw # o0 AR
Rz Sl foem 3 o0 wwer B 1 A IuE q@ few R o A B

A) f8rT B) U= C) sferT-ufesy D) @
61. In this question, three statements are given followed by three conclusions. Choose the conclusion(s) which
best fit(s) logically.
Statements:

1) Some planets are Mars.

2) Some Mars are Mercury.
3) No Mercury is Earth.
Conclusions:

I. Some Mars are Earth.

II. All planets are Earth.

III. Some Mars-are not Earth.

A) Only conclusion I follows B) Only conclusion II follows

C) Only conclusion I1I follows D) All the conclusions follow
61. 59 W ¥, A9 BT F a1 A Feed g o F) o99 Fewd (9 o9, S afde ' g
®T ¥ AT HT el |

®Y:

1) % U8, W e

2)Fg A e, T e ¢ |

3) %S 99 Ve, e el 7 |

e

1. 59 W WE, gl E 1N ol ue, et ¥

1L 55 1 e, Tedt 7 2|
A) A b | SATE FR 2 B) %l vt 11 A7E0T Hr B |
C) et FsBd 11 AFE HAl B | D) Tt Fvaht g € |
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62. In a row of 21 girls, when Monika was shifted by four places towards the right, she became 12th from the
left end. What was her earlier position from the right end of the row?
A)9 B) 10 o) 11 D) 14

62.21 E(HAT HT U Uieh ¥, ST AHHT BT =X €T 20 AR TAFGRT [6ar T, O 98 90 gr q

1241 21 | uRh F 3¢ YR ¥ SHET U T F4r
A)9 B) 10 0) 11 D) 14

63. In a certain code language, '/REGISTER' is written as 'QBFFRQDO'. How will "TRIANGLE' be written in
that code language?

A) SHOXMDKB B) SOHXMDKB

C) SOHMXDKB D) SOHXDMKB
63. U FR=Id %a WO ¥, 'REGISTER' %1 'QBFFRQDO' % &9 # for@l Wil & | I&l e Wiir § TRIANGLE
B HY for@r S

A) SHOXMDKB B) SOHXMDKB

C) SOHMXDKB D) SOHXDMKB

64.1f 10 $ 15 #350 and 12 $ 8 #2 =48, then 13 $ 6 #2 =2
A) 39 B) 42 C) 56 D) 60

64. 70 1081543 =508 AR 1298 #2 =48 %, A/ 13 $6#2 =2
A) 39 B) 42 C) 56 D) 60

65. Pointing to the photograph of a boy, Suresh said, "He is the son of the only son of my mother." How is
Suresh related to that boy?
A) Brother B)Uncle C) Cousin D) Father

65. T Tgh 1 T 6T AR LR H gU YW@ Fel, a8 WG Af F gheld 9 T AT § | " G BT
U EH b FA AT 2

A)WTE B) #hdl C) TR WS D) frar
66. Who propounded the theory that atoms can neither be created nor be destroyed?
A)Avogadro B) Dalton C) Rutherford D) Neils Bohr
66. TTATITAT 1 = A ST W Fhell € AR 7 & 7oc F6a1 S Febell 2, T Rygia e wiaaiea fHan
INEEIRIED B) Slecd C) @RS D) Al =T
67. Which among the following is produced, when chlorine is passed through slaked lime?
A) Washing powder B) Gypsum
C) Bleaching powder D) Baking powder
67. 9 BY T H FAH FANRT HET I WA § ¥ A1 I el 2
A) FIEAT qGET B) foeaw C) AT UT3EX D) AT T3S

68. Calculate the mass of 0.5 mole of N atoms (mass due to one mole of atom).
ATg B)ldg C)28¢g D)35¢g

68. N IRHAT & (U A GATY & BRI FeIAM), 0.5 AT FEIATT 60 0T |
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A) 79 B) 4T  (C)287UMN D) 3.5 U

69. has no unit and it is a dimensionless quantity.

A) Stress B) Modulus of elasticity
C) Strain D) Both stress and strain
69. #1 H1E AME T B AR FE b AEE AT |
A) T B) WeATEddT A% ofF  p)TE dr el FE
70. The xylem in plants is responsible for-
A) Transportation of water B) Transportation of carbon dioxide
C) Transportation of food D) Transportation of oxygen
70. et ¥ S * fog SeaTh B |
A) TH % IREET B) HTE SgATFaEsS & URdeT
C) WIS &% Yaed INEIERIEERE P LCER
71. A zygote which has a Y-chromosome inherited from the father will develop into a-
A) Boy B) Girl
C) Either a boy or a girl D) Neither a boy nor a girl
71. U TP ford fer & fBed & e v e e, Bt awt I SO /W
A) AESHT B) @@l
C) AT I Uk TISHT a1 U aAgah! D)T Al U @SHT AR 7 & Uk ST
72. The change in the focal length of an eye lens is caused by the action of the-
A) Pupil B) Retina C) Ciliary muscles D) Iris
72. 9t@ % < F1 Wb cg H AR & BFE1 % T A 2|
A) qiUet B) XfeT C) Rifersrd wiwnfRmt D) ATSH

73. A frog, a grasshopper, grass and a snake are present in a food chain. If grass is at the first trophic level,
then the third trophic level will be the-

A) Frog B) Snake
C) Grasshopper D) Both the frog and grasshopper

73.T% @ @l # UF Hob, T [IE), W A UF G99 A A0 ¢ | A o guw a6 o) B
RIEEUR Rt
A) WEE B) &fq o) fesr D) ¥eF AR fogr 2t

74. A ball was dropped from a height h' and it took 3 seconds to reach the ground. Find the value of 'h'.
A) 90m B) 15m C)45m D) 98 m

74, TR T 1 $o0E 0 ¥ R w0 9R T T T g § 3 Y BT GRS Al b BT WA A

T |
A) 90 T B) 15 C) 454t D) 98 |

75. Which of the following fuels is used in thermal powerplants?
A) Water B) Uranium C) Biomass D) Fossil fuel

17




PYR- 2023 BSSEI (M-8777273548) Coaching for JSSC

75.ard T & R ¥ ¥ fhw $u9 %1 Suan B W &

A) T B) T O EIRICIE D) W&H g6
76. few e geTa % o forehedt § & wE ot o
ST TRSTAT & ST Tat

A) ST & AT e T B) i gl atet v T o

C) SH-97 F TS | TS D) 9= T gefted 3T

77. e we2 % aty o fore fow w =R foenedt § @ Sfua foerew Tfw

D

i)

A) srfee B) & C)dm D) wgm
78. Tt 32 % it o o few e ww foeedt 7 & 3fa faere 9w
HER

A) =t B) g=mw C) "= D) swfa
79. frefafaa & & "sera’ =1 @&t | foeag w27

A) 3|+ 3t B)z+&a C) &1 + s7a D) 3+ &=
80. = F_ferT; -
RIE

A) =g B) sitfeat C) =t D) uig
81. faw e yerer & for foeredt & & wet o1ef |
3T g

A) TSt =@ B) zfa # &g & C) =7d 1 e D) =& @@ &
82. T w1 o e o foTg fo 1q =t ferereat & & 3fa forshed gHT |
TR

A) = B) zauit C) =u-7h D) =v-qih
83. feim wwafer: -
srerf

A) e B) stesiun C) gty D) qesfor
84. 7 318 o faeid o foTe 3¢ g 9w forereat & § Sfa fosked gHT |
YA

A) gtad B) 1= C) e D) gurdea

85. fau T arerrieT o foTg = forehcdl 6 | Sfard T 318 &1 T | ST 0T Jeal & hl
A) wET B) stremat C) et D) strew srenfa

86. f o8 o ot o forg fow Tq =w forspedi @ & 3 forered 9 |
S

A) wur B) s C) g D) smga

87. f w1og o vt o forg fow g =w forspeat 7 & 3 faered g |
Fh

A) @ B) @ C) % D) &
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88. ey foe o | wrse =T |

99 + Sar

A) Farer B) Trare C) ragr D) T
89. F= wefeTw; -
T

A) T B) s C) g D) g&an
90. feimr srafera: -
I

A) srgeEs B) sufeshr C) seurfeht D) wifeer
91. 3% w1&aT % foTg T w1 "I’ i 37 R 32

A) g fiar s aren B) foreft & fiat =2 & arer

C) st & e D) s die (wier) Fen s aren

92. feu 7T rse % wHTE & Gl foreheq w1 = Fif

[CEURS]
A) st B) wshfz C) 7= D) fa
93. feu U 318¢ & HHTE & Hel sy 1 = hifsm)
GHT-4HT
A) T B) sz Q)= D) fay

94, f1 3TT=82 I Ut U T w1 o IR foreredt # & Rt A |
T 7T | e, SATHT ST CHTeHT o Heieh § Uerd 1o 7, UL TS ohl {eeaTel ToHTl shl THId: 8T e el ST Eehdl 39 GfE | ATt
TS S0 TR AR S D 3@ ¢, 9 U e e & $ea 21 ae-ae w off I de WIS ok 36 S -3 3 W 1 3ETed e
2 U1 &, foheq dieiohtet ook o ST |IERT T 3 9T 3¢ UHT STV g1 R 3 TvEd O o HeTer Rt S1gve waT g & W@ 81 39
31T TT <RI ST AT AT +ft el ST Tehell 81 ST 39T FaT I WSt 7R 30 fHed o T¢I TTersh So & 33| ST Uk 91 36 Tl T 9
1 T, TR ae firet form 9 whel? Tt oo § foe ot sEmehetan st Ui e Treht 3§ oS ARl weat 7 foR 2, foheg sEH e aw ® foR
TS T AT 19T w1 6 IW H- YOI & IS &, I U AT AT T BT H GO B T GG AT 3| wft Hrerehi 3 Uk T 8 9 o e § R
I gfg 3 forder on aoh & W 2, I 3P SR ST T S Wl 9 S SEeHT SIS FoRT ST TehdT €, WY 98 SN T % TS F TUH 3 39
IFIWE T AT Al
T ST Tt &, fohmg SwehT amoft & 9ol 2T fopam ST weha| wRaTe = 87

A) TTTHT SR URHTEHT | Hafod e B) wianften s vt e

C) T 37T e e D) Trad 1R |k e

95. 1 STT=8T I TRt faT T 5% IR forhedt H & It AfT |
TORRTT 37T H @S, STTCHT TR THTCHT. o deie H I h1ed ], UL 3711 il TEIaTel ToTaT ol THIrd: UHT el et ST ookl 36 giY | 371
IS I AR AR S D I@AT 8, T8 Geh [T @6 § A 8| qg-¢ AT ot T 7o @IS ok 39 A -3 o &6 T 3§1eA el

T I 7, fohrq diefehret 0 foram 3 |TemT 07 & vaTq 3w UM S1ga geTT foh 39 WA SR o HeTer foRET S1gYd @ 51T &1 T 8 39
ITGY | T ST AT AT off el ST Tkl 31 3T 31T |1 i GieH 3R 30« e & foTw 3 Trerss =9 &1 33| el Ueh S 36 ©xT T JH
1, TR e firet fomm = hef? Vel gem & fore oY caepetan oht vl e TRt 4 oS weleaeft wisdt # foRe ¥, foheq g hod wE ® fR
57 ST =T 19T w1 6 I H F T & 33 &, I U AT AT T BT B G0 B T GG AT 31 wft Hrerehi 3 Uk T & 9 o e & R
3 fg 3R forere a1 0k & W8, 37 ST g ST %K ST wehT| g9 g SHeHT S ToRAT ST e €, WY 98 g T % TS % 99 8l 39
I HT AHG Al
foram <1 wehan ©, foreq SweRt aroft & avi et fora S wehan e 9% forem R % a1e W R e ge?

A) I7 TER $ur iRt & g 2 B) g AR 21gvd kAl @ d@erferd 21

C) ¥z Hu ge Sferat & Fnferd D) 7= ar w+ft wifrat & wnferd 2|
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96. 7 STT=8T 1 TG 4T TT T o I forhedl § & TR AN |

TORRTT 37T | TEEETE, STTCHT ST TCHTCHT o deie § I hied ], U 3711 il TEIaTel T3t ol THwrd: UHT el shaT ST Tkl 36 gi¥ | 311
TS I AR AR S D I@AT 8, I T [T @6 § A )| qg-a¢ AT ot T 7 @IS ok 39 A -3 o &6 I 3G1eA el
AT &, o drelehret qoh o 7R |TEHT i o 92T 3¢ U1 3TV gITT o6 39 T SEI o1 ETer o 3199 &1 ST 81 BT & 39
31T | 1 ST AT | TRATCHT +ff FET ST Tehell 2| I TG |1 ki WisH TR 388 e o foTw o drereh o 2 331 5 U a1 39 |l &l I
1 e, Tt e ey fom = ahet? Ueft aem & fore oY caepetan b avid tes TRt 4 oS weeanft wiedt | fore €, foReq se oS ww @ fR
TS S a1 37T @ o U9 H o IR 2 33 &, 36k U T AT FF H FS AU B G GG el 8| Tl FTEehi § T T § T8 a1 FEd S R
3 gfg 3 forsre on b & W 8, 3 S5 g S A S wedTl w9 SR IRt ST R ST weRd €, WY 97 ST T % TS % 9 2 39
HIHE T TS Al TR ST Tl &, Toheq 6T Aot & 0 Tl foharm ST |kl |

37gYT T ¥ fire & fote ameres s a1 27
A) 31g7g T § 3T ST 2 B) s7gv T & @Mesk 2
C) 3 37 Iy AR AT T o foar it T dhal D) s1gva @at o i ol

97. T s1g=se 1 Teat AU T W o I fohedt # @ AR ST | THOnTd 37l TEEle, HATCHT 3R TRHTCHT o daie H I Fed 8, W
AT T TEEIETE AT ol GHHd: |1 el a1 ST Wehd| 360 GiY § TR 0T 310 A1 AR ST 3 3@l 8, 98 T fdies T8 8 370 2
FS-aTg HHAT +ff 7T o WIS ok 38 WA G- o TEE BT SGIT el L UG, Toheq ATEiehieT o forem A1 |TemT i & warrd 37 uar
TS TAT o 30 OHET HER T HaTer fohel 319 9T g1 & &1 2| 3 7% Ul bl & AT [qercHt oft a1 ST HohdT 2| 3| G T Hl
@Ie 3R 308 fie % foTg 3 |Tersh o= 2 33| S U a1 39 HaT 1 JH & T, R S firet fer 9 et ? Ut g # fore ot g
T FUN 3T WG 9 AHeR( yreal o fopam €, foheq S8H hioTS e & foh fSr s7aT am S3sire §am o 9w & o umiet & 33 €, 3 o 1 AT
T T B AU HT IHT G T B Tt ARt ¥ U R A M el ¢ foh o i 3T e A ek @ W E, 378 ST g S e S wehan

TS ST IHHT VS ToRAT ST TohelT 8, T I FIHE T % TS o AHM 8| I0 STIHE T S AT (o1l ST Tl &, T STt Aot & i i
[ERIE IRSEI

T T UM A H IS T 272
A) =z gfg 3R forees o 7k W B) 3& gt g St A S wehan
C) et amft & guiT 72 foram sm R D) faehedi & & asft

98. w1 7= i gt fau MY W o S ferehedt # & LA |
TORRTT 37T H TS, STTCHT TR ICHTCHT o Heiel § I hled §, UL 3Tt ol TEIaTal ToT3T ol THId: UHT el et ST Tohdll 36 giE | 71
IS O AR AR S D JEALLE, T T [T @6 § AGd 8| -9 HA61 ot T 7o @IS ok 390 A -39 % &6 I IG1eA el
T I 2, fobrq Srefohier ek foramt 3T |TERT 07 & U21q 3w UG ST goTT foh 39 WA S8 o1 HeTer [hE 31ged @l 51T &1 &1 8 39
31T |1 1 ST AT [T off T ST HehelT 2 39 1Y BT ol @IS ST 364 e o fo7w o |rereh o 81 33| 79 T aR 39 &1 1 I
1 e, Tt 3Ed et fom = ahet? UEft aem & fome ot caeheran st avie te Tkt oS Heeaeft wisdt # o €, foheq e oS aw B TR
S 1y am ST9Ta W o6 AW H I IR < IS <, SHeh U HT AT FT HT FHH AU B AT G Tt 31 Toft Trerent 7w Tl & 7 o v ® R
o g ST foraleh a1 7h § W&, 3¢ 5T G0 ST Al S FohelT| €S ST SHhT S0 (o621 ST WohlT 2, Wi € A7 T[T % T[S o UM 2| 39
I T TG AT TR ST Gl &, Tobeq SEeT ATVt & i 21 foa ST wehan|
oo 318 T 37 |

A) 99 % AT B B) @& %@ 7 var g C) gfedm D) st g

99. 11 srgeee i gt faT MU W o I foreedl o & IR AT |

T 37T H e, SATCHT ST ITHTCHT o Heey § TId sh1ed ©, U 37T ohl TeeaTel ToTST ohl WHId: UET e el ST ekl 36 GfE | ATt
AT A AN SRS FS TG 8, TE T (Al T ¥ a3 aS-ag FA off 0 WIS Foh 36 G fohg-0E o T 1 3G1eA A
X NG T, Toheq) refobTet ok foram 3T |TEAT T 3 U2ITq 3¢ UM ST gaTT foh 36 WA ST o1 EeTer foRe 31gYr T 51T &1 T 8 39
G T T ST AT [JRATeHT o} SHET ST TRl 2 I 3T TT bl GieH 3T 308 fier & foTw I |reres S=F &1 33| ST Tk a1 36 ST T 919
1 e, Tt e et fomm = ahet? Ueft aem & fore oY caepetan o avid tes TRt 4 o weeasft wiedt | foe €, foReq se wios ww B fR
TS s a1 S7Ta @ o Y9 H F 90T 2 33 &, 36k U T AT FT H FS AU B O] GG A2l 8| Tl FTEehi § T T § T8 a1 FEd g R
F gfg 3 forsre an b & W 8, 3 35 g S A S vl w9 S SRt I R ST e €, W 97 ST T % TS % w0 2l 39
I T ATS AT T ST Hhall &, Tobeq) STt Aot & i =21 fefa ST weha|
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31T TT kT T el St 87
A) T& AT RATHT B) wry = @q C) 3@ a1 aFa D) e &1 qaar

100. f7= s17=a% 1 gear T T w1 & I forshed & & et ST | wowrra 31l & eerae, STt 3R TRATenT o "oy & e e €, |
TS T TEEATE! TS i T LT T T S Tl 36 Y & AR A7 310 TR AR S FB J@dT 8, 98 Th (1T 6 ¥ 3774 2
Fg-oTe T oft T qoF WIS ok 39 O (o8-S o 6% T 35T e | L UTC 8, Tohe STelehTet deh Tt S ATEHT i o T8 370 QT
AT AT ToF 39 T AR 1 HaTe [hET 37T TaT ST &1 &1 2| 30 37GYT |l bl Sl AT TRATCHT T el ST 6hell gl 36 TG &l i
Qe 3R 38 fie o foTg 3 ATeeh S 81 33| ST U SR 36§l 1 1 &1 T, R e firet form = het? Ut awm # fore ot smegperr
U 31 Traehi 3 9 AHeast! vreat # fopa €, foreq sew wioTs 7 @ R TSt e A ST @ o I H o Ut &1 3 €, 36k ON o A1 F
1 w5 0 HTIET W9 T 2 At qrahl 3 O T W A T FE @ ok o i SR foesh A1 deh @ W€, 3 Sfe g S et S wehnl
&2 G JTH! IIHA FohaT ST Tohell 8, Tig o8 STHA 1 6 TS % THM &l 30 A 1 373 a1 foram ST gehalt 2, fobeq) Swrept amoft & ayofy =t
ERUISIEEI]

T HHT T e foRoeh g &1 T 272

A) g g B) srgva @= C) wr= g D) s €
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